EARAROBREBRT —5 XN—ZXBISH—F 2023538158 (K) 1200#a838

N S%—ik C27tE BRI
[#&<%£] 171,000,000 § ~ 23 :400,000 33&:250,000 ™  43&:150,000H 5 & :100,000 M
B RS RS M MHE BF (F8) |94L (BF) | @Bl | E3F |SiEH | AR | #E | A6 (R / B / £EWS
1H 2| 7T7U—bLAL 5 | TlHES n70 321 (403 - |5 (4637) BEGL (0
RFIVVITYR BiF YT q—L— ES ABh
: o 4 | BES 1:17.1 4-4-3  |40.4| — | 2 | 508 |HHEE (W4
2 7| YT bTU—H— e 5.0 C5) -4) #) YGGHh—2757
RIIRTVYFLY 8:0N/UVFY T AOKE
31710/ 7IRRINVY T * 5 | BREE 1:(127).5 234|404 - | 10 f;) %%?EEH ()
RN—ANR 8:F 4 TY—T—LR REEIS
3 3 . A2 : -9 - JIBE— (#18)
4179 |XYN\vyrO—R £ 56.0 (17'1533) N e 1 ?:11) emE
X:O0—kA>r07 HRISZZY BRER 4%
R i o4 | LA 1:17.5 557 | 40.4| — | 4 | 432 |TEEEHSL (6H)
51812/ 1—OvIFa1—R 54.0 (759%) g | B RRES
RiIAYVEDAY BI7N—DIY AA—=bT7—L
< T 6 | Bz 1:17.6 676 |40.4| — | 3 | 499 |FIHIELE (48
6|55 | YVITPYS i %530 (/9 (5 |KAJIMOTOHD (#)
RAR—hTFIVAY B:RILI/SRUTY b pLge
= EMEES :17. -8~ 4 - RAS (118
IRIEECED SR R L DB e
RS/ TSIV BTF4TIUER IRk e
BARE : -6- - PEER (118
8 4 STAT—)b 4t 7 4 1.(118).0 9-6-5 40.4 7 (5+373; 2, ;?i?i%u
RiVvRIVIA BILFI0AY RS
e 4% 4 | AHIESE 1:18.5 1-1-2 | 40.4| - 1n | 477 | BHES ()
9|56 E2—TLAL 54.0 2 1/2) (g) | TIWAIF
R:I1 I hD—bEY B:TJUUY JY95T7—L
75 Lz : Al - EOE (118
10111 | FPYRILZFS LA 5951%; 1.(139).1 8-11-11 | 40.4 8 :1:321) m%gtﬁ (fst8)
R:bo70-U— B:FvyRIO—X Wl
= e ARIIREERS : -10- - THEE (WS
N BETSZEE 4| S Rl I R
R:ZMOVIUST—Y 8:T5VI—) FEZ Y K
5 . . ABER : -12- - KEHT
s v—ATv—7 A4S e W I © & lmxz
RINTYYL—Y B:YIYRYT—T &l B—
@ 11— —&@BIE(I
13=zr=
2J—7F— |6,10,2,7,12,5,9,1,4,3,11.8
30—3— [6,2,10,7,12,4,5,11,9,3,1,8
41—3— |(2,6,7,10,4,5,12,11,9,3,1,8
@ IRE
& s 2 2,400 | | 94 & 2-7 8503 | | # &= 2-6 3,010 | | 3:&=& 2-7-10 34,810MH
& B 2 470 2-10 7,810 | | #& & 2-6 11,700F3 | | 3:&=& 2-7-10 281,830M
7 150/ 7-10 2,120 | | 5= 2-7 2,760
10 1,020M 5 2 2-7 10,210M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



